Solutions to Trigonometry Problem Set

For a video version of these solutions, follow this link: https://youtu.be/GW6DAKKCeAE

1. Without the help of a calculator or notes, find the following values:

(a) sin(7/3) (c) cot(m/2)
(b) csc(—57/6) (d) cos(97/4)
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(e) tan(57/3)

(ﬂ sin3(57/4) (sec2(7/3) — csc2(w/3))
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2. Given the following right triangle:
(a) Find the length of the missing side
(b) Find cot(a)
(c) Find sec( /)
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3. If cos(d) = 1, what is the value of:
(@) sin(6) (b) sec(h) (c) tan(h)
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4. Use trigonometric identities to simplify as much as possible:

(@) cot(z)sec(x) (0 i:i;’;ﬁﬁ (e 2= (6) sin? ()
(b) tan(f) cos(f) (d) cot(y) tan(y) 1+ sec (6)
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5. Solve for = over the specified interval:

(@) 2cos(xz)+2=1, on [0,2m) () Gesc(r — %) =12, on [—7/2.7/2]

(b) 6Gsin(x) = \/_ n [0, 27) T

(c) 1+ sin(z) =1 — cos(x), on [0,27) (0 sin(z) = % on [0, 2r)

(d) tan(3z) = \/_ on [0, 7] (8) sin?(z) — 2cos(x) = cos(x) — cos(z), on [0, 27)
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